TP3 de Bases de Données

1° 
a. 
create view salaries_southlake as 
select e.employee_id as no_salarie,e.last_name as nom,e.first_name as prenom,e.job_id as no_poste,d.department_name as nom_service,FLOOR(months_between(sysdate,e.hire_date)) as anciennete 
from hr.employees e, hr.departments d, hr.locations l 
where e.department_id=d.department_id and d.location_id=l.location_id and lower(l.city)='southlake'; 

b. 
select nom,prenom,anciennete 
from salaries_southlake 
order by anciennete desc ;

c. 
select s.no_salarie, man.last_name as nom_manager, man.first_name as prenom_manager 
from hr.employees e, salaries_southlake s, hr.employees man 
where s.no_salarie=e.employee_id and e.manager_id=man.employee_id;
2° 
create function charges (salaire integer) 
return INTEGER 
is 
begin 
return (45*salaire/100); 
end/

3° 
select e.LAST_NAME,charges(e.SALARY) 
from HR.EMPLOYEES e; 


4°

a.

insert into LOCALISATION (noloc, rue, ville) 
Select l.LOCATION_ID, l.STREET_ADDRESS, l.CITY 
from HR.LOCATIONS l; 



b.
create or replace procedure ajoute 
(la_rue in localisation2.la_rue%type default ‘inconnu’, la_ville in localisation2.la_ville%type default ‘paris’) 
as  
noloc integer; 
begin 
select max(noloc) into noloc from LOCALISATION2; 
insert into LOCALISATION2 (noloc,la_rue, la_ville) 
values(noloc+1 ,la_rue, la_ville);

commit ; 
end;

c.

execute ajoute(‘rue du Louvres’,’Paris’) ;

execute ajoute(‘rue st Jean’,’Nancy’) ;

Select max(noloc)

from localisation2;
